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QUESTION 1

A user is assigned these two roles in NSX Manager: 

LB Admin Network Engineer What privileges does this user have in the system? 

A. read permissions on all networking services and full access permissions on load balancing features 

B. full access permissions on all networking services and full access permissions on load balancing features 

C. full access permissions on all networking services and read permissions on load balancing features 

D. read permissions on all networking services and read permissions on load balancing features 

Correct Answer: B 

 

 

QUESTION 2

Which component does the hyperbus interface (vmk50) provide network connectivity to? 

A. containers running on ESXi/KVM transport nodes 

B. virtual machines and containers running across transport nodes 

C. virtual machines running on the same hypervisor 

D. virtual machines running in the same segment 

Correct Answer: A 

 

QUESTION 3

What are the advantages of using a Tier-0 Gateway in ECMP mode? (Choose two.) 

A. stateful services leveraged 

B. Failover of services 

C. traffic predictability 

D. traffic load balancing 

E. increased north/south bandwidth 

Correct Answer: DE 

From ICM manual: 

Equal-cost multipath (ECMP) routing has several features and functions: 

2V0-41.20 Study Guide | 2V0-41.20 Exam Questions | 2V0-41.20 Braindumps                                2 / 8

https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html


https://www.lead4pass.com/2v0-41-20.html
2021 Latest lead4pass 2V0-41.20 PDF and VCE dumps Download

1. 

ECMP routing increases the north-south communication bandwidth by combining multiple uplinks. 

2. 

ECMP routing performs traffic load balancing. 

3. 

ECMP routing provides fault tolerance for failed paths. 

4. 

A maximum of eight ECMP paths are supported. 

5. 

Hashing is based on 2-tuple IP source and destination addresses. 

6. 

ECMP routing is only available on Tier-0 gateways. 

 

QUESTION 4

Which three services are compatible with VRF Lite? (Choose three.) 

A. VPN 

B. Intrusion Detection 

C. NAT 

D. Load Balancer 

E. DHCP 

Correct Answer: BCE 

 

VRF Lite is not compatible with the following services: 

1. 

VPN 

2. 

Load Balancer 

Taken from NSX-T ICM 3.0 Lecture Manual. 
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QUESTION 5

A customer is preparing to deploy VMware Kubernetes on an NSX-T Data Center. 

What is the minimum MTU size for the UPLINK profile? 

A. 1500 

B. 1650 

C. 1550 

D. 1600 

Correct Answer: D 

 

QUESTION 6

What are three NSX Manager roles? (Choose three.) 

A. cloud 

B. manager 

C. zookeeper 

D. policy 

E. master 

F. controller 

Correct Answer: BDF 

 

QUESTION 7

An NSX administrator has observed connectivity issues between the NSX Manager and the KVM Transport Node. 

Which two log files could be used to troubleshoot the issue on the KVM Transport Node? (Choose two.) 

A. /var/log/vmware/nsx-syslog 

B. /usr/vmware/log/syslog 

C. /var/log/nsx/syslog 

D. /usr/vmware/nsx-syslog 

E. /var/log/syslog 

Correct Answer: AE 
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QUESTION 8

An NSX administrator is troubleshooting a connectivity issue with virtual machines running on an ESXi transport node. 

Which feature in the NSX UI shows the mapping between the virtual NIC and the host\\'s physical adapter? 

A. Switch Visualization 

B. Port Mirroring 

C. Activity Monitoring 

D. IPFIX 

Correct Answer: A 

 

QUESTION 9

A DevOps user has deployed a Kubernetes Pod in vSphere. 

What does the term ClusterIP represent within NSX-T? 

A. Deployment of T1 with NLB service. 

B. Deployment of Distributed Router. 

C. Deployment of Distributed Load Balancing service. 

D. Deployment of T0 and T1 

Correct Answer: C 

 

QUESTION 10

Which CLI command would an administrator use to allow syslog on an ESXi transport node when using the esxcli
utility? 

A. esxcli network firewall ruleset -e syslog 

B. esxcli network firewall ruleset set -a -e false 

C. esxcli network firewall ruleset set -r syslog -e true 

D. esxcli network firewall ruleset set -r sysloq -e false 

Correct Answer: C 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.2/nsxt_22_troubleshoot.pdf 

 

QUESTION 11
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Which two choices are prerequisites to configure NSX-T on VDS? (Choose two.) 

A. MTU 1500 

B. MTU 1400 

C. vSphere Distributed Switch 6.5 

D. vSphere Distributed Switch 7.0 

E. MTU 1600 

Correct Answer: DE 

https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/installation/GUID-
BA34FB2A-6780-41C5B895-F37E5A7B7BAE.html 

 

QUESTION 12

An NSX administrator would like to configure syslog for a KVM transport node. 

Which host log files could be exported to a remote syslog server? 

A. /var/log/vmware/nsx-syslog 

B. /var/log/cfgAgent.log 

C. /var/log/nsx-audit.log 

D. /var/log/cloudnet/nsx-ccp.log 

Correct Answer: A 

 

QUESTION 13

An NSX Administrator has created a segment named WEB-LS from the NSX UI and noticed the segment is not realized
on the KVM Transport node. 

What are two possible causes for this issue? (Choose two.) 

A. The KVM Transport node has hardware issues and will not realize the WEB-LS Segment. 

B. Since the Compute Manager is disconnected in NSX UI, the WEB-LS segment will not be realized on the KVM
Transport Node. 

C. The virtual machines running on the KVM Transport Node are connected to the WEB-LS segment, but are in
Powered Off state. 

D. The virtual machines running on the KVM Transport Node are not connected to the VDS. 

E. The virtual machines running on the KVM Transport Node are not connected to the WEB-LS Segment. 

Correct Answer: BE 

2V0-41.20 Study Guide | 2V0-41.20 Exam Questions | 2V0-41.20 Braindumps                                6 / 8

https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html


https://www.lead4pass.com/2v0-41-20.html
2021 Latest lead4pass 2V0-41.20 PDF and VCE dumps Download

2V0-41.20 Study Guide 2V0-41.20 Exam Questions 2V0-41.20 Braindumps

2V0-41.20 Study Guide | 2V0-41.20 Exam Questions | 2V0-41.20 Braindumps                                7 / 8

https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html


https://www.lead4pass.com/2v0-41-20.html
2021 Latest lead4pass 2V0-41.20 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.lead4pass.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © lead4pass, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

2V0-41.20 Study Guide | 2V0-41.20 Exam Questions | 2V0-41.20 Braindumps                                8 / 8

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html
https://www.lead4pass.com/2v0-41-20.html

